
Listening Scripts (Midterm Test)
Part III. Listening Comprehension 

Section A: 

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversations and the questions will be spoken only once. After each question there will be a pause, you must read the four choices with A), B), C) and D), and decide which is the best answer, then write the corresponding letter on Answer Sheet 2.
11. M: I haven’t received the book I ordered online. Maybe I should check on it.

W: Don’t worry. It may be delayed by the heavy snow.

Q: What does the woman mean?

12. W: The movie will start in 5 minutes and there’s bound to be a long line.

M: Why don’t we come back for the next show? I’m sure it would be less crowded.

   Q: What does the man mean?

13. M: It’s eight o’clock already. Jane should be home by now.

W: Oh, I forgot to tell you that she called this afternoon and told me she was going to a party at her friend’s house and wouldn’t be home until 9.

Q: What does the woman mean?

14. W: I don’t think we can find a better hotel around here at this time.

M: Let’s walk a little further to see if there’ another one. I just can’t bear the traffic noise here.

Q: What does the man suggest?

15. M: The speech the blind girl gave this evening was extremely moving.
   W: I couldn’t agree with you more.

   Q: What does the woman mean?

16. W: My English teacher suggested that I come in and borrow an English-Chinese dictionary.

   M: Of course, Miss. You’re welcome to use our dictionaries, but you can’t take them out of the room. Wouldn’t it be better if you had one of your own?

   Q: What does the man mean?

17. W: Congratulations! I understand that you got a financial aid award from the department.

   M: You must be mistaking me for someone else. I’m still waiting to hear.

Q: What can we learn from the conversation?

18. W: George got a ticket last week for speeding.


M: That should teach him a lesson. If he doesn’t start driving more slowly and carefully, he’s bound to have an accident.


Q: What do we learn from the conversation?

Now you will hear two long conversations.

Conversation 1

W: You don’t look smart this morning. I can see you’re not happy.

M: I had never expected this would happen to me. We had a power failure at home last night.

W: How come? Did anyone in the family do anything wrong?

M: You’ve guessed it. It was all my father’s fault.

W: What did he do?

M: I was just watching a wonderful football feature program on TV when the lights suddenly went out.

W: Why was that?

M: You see, we’d just had our dinner. My mother was washing my jeans in the washing machine. And the air-conditioners were on in both rooms. I was in my room watching TV.

W: What was your father doing then?

M: He wanted to warm his tea in the microwave oven. He plugged it in and the fuse broke. And everything stopped all of a sudden. 

W: Your next-door neighbor is an electrician, isn’t he?

M: Yes. Luckily, he happened to be at home. He came and fixed it up. But it was half an hour later. I had already missed a lot.

W: It was an annoying experience for a sports fan like you. But don’t miss the basketball final this evening. Make sure there is no power failure tonight.

Questions 19 to 21 are based on the conversation you have just heard. 

19. What happened to the man last night?

20. What was the man doing when the lights suddenly went out?

21. What was the immediate cause of the power failure?

Conversation 2

M: Hello, I have a reservation for tonight.
W: Your name, please.                       

M: Nelson, Charles Nelson. 

W: OK, Mr. Nelson. That’s a room for five and...
M: Excuse me, you mean a room for five pounds? I don’t know the special was so       good.                     

W: No, no, no, according to our records, a room for 5 guests was booked under your     name.
M: No, no, hold on. You must have two guests under the name.
W: OK, let me check it again. Oh, here we are.

M: Yeah?

W: Charles Nelson, a room for one for the 19th...

M: Wait, wait, it was for tonight, not tomorrow night.

W: Em..., I don’t think we have any rooms for tonight. There’s a conference going on    in town... Er, let’s see... Yeah, no rooms.

M: Oh, come on! You must have something, anything!

W: Well, let, let me check my computer her. Ah!

M: What?

W: There has been a cancellation for this evening. A honeymoon suite is now           available.

M: Great. I’ll take it.

W: But I have to charge you 150 pounds for the night.

M: What? I should get a discount for the inconvenience!

W: Well, the best I can give you is a 10% discount plus a ticket for a free continental     breakfast.

M: Hey, isn’t the breakfast free anyway?

W: Well, only on weekends.

M: I want to talk to the manager.

W: Wait, wait, wait... Mr. Nelson, I think I can give you an additional 15% discount.

Questions 22 to 25 are based on the conversation you have just heard. 

22. Why was the man calling?

23. What was wrong with the man’s reservation?

24. Why did the hotel clerk say they didn’t have any rooms for that night?

25. What did the man mean by saying that he wanted to talk to the manager?

Section B: 

Directions：In this section，you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B)，C)，and D). Then write the corresponding letter on Answer Sheet 2.

Passage One

Once upon a time a poor farmer taking a sack of wheat to the mill did not know what to do when it slipped from his horse and fell on the road. The sack was too heavy for him to lift, and his only hope was that presently someone would come riding by and lend a hand.

It was not long before a rider appeared, but the farmer’s heart sank when he recognized him, for it was the great man who lived in a castle nearby. The farmer would have dared to ask another farmer to help, or any poor man who might have come along the road, but he could not beg a favor of so great man.

However, as soon as the great man came up he got off his horse, saying, “I see you’ve had a bad luck, friend. How good it is that I am here at the right time.” Then he took one end of the sack, the farmer the other, and between them they lifted it on the horse.

“Sir,” asked the farmer, “how can I pay you?”

“Easily enough,” the great man replied. “Whenever you see anyone else in trouble, do the same for him.”
Questions 26 to 28 are based on the passage you have just heard.

26. What happened to the poor farmer?

27. Why didn’t the farmer dare to ask the rider for help?

28. What does the great man mean by his reply?

Passage Two

With the world’s population estimated to grow from six to nine billion by 2050, researchers, businesses and governments are already dealing with the impact this increase will have on everything from food and water to infrastructure and jobs. Underling all this growth will be the demand for energy, which is expected to double over the next 40 years. 
　　Finding the resources to meet this demand in a stable, sustainable way is the cornerstone (基石) of our nation’s energy security, and will be one of the major challenges of the 21st century. Alternative forms of energy----bio-fuels, wind and solar, to name a few ---- are certainly being funded and developed, and will play a growing role in the world’s energy supply. But experts say that even when combined, alternative energy sources will likely meet only about 30% of the world’s energy needs by 2050. 
　　For example, even with significant investments, such as the $93 million for wind energy development included in the American Recovery and Reinvestment Act, important alternative energy sources such as wind and bio-fuels comprise only about 1% of the market today. 
　　Energy and sustainability experts say the answer to our future energy needs will likely come from a lot of solutions ---- both traditional and alternative. 

Questions 29 to 31 are based on the passage you have just heard.

29. What will be one of the major challenges of the 21st century according to the

passage?

30. What will play a growing role in the world’s energy supply?

31. Which of the following is not mentioned as the alternative forms of energy?

Passage Three

Tourism was one of the fastest growing social and economic phenomena of the last century, and there is no sign of slowdown in the current century. The number of tourists will continue to increase, and they will come from wider socio-economic groups and a wider geographic spread than at present.

More leisure time, cheaper travel and rising curiosity about other lands promise a bright future for the tourism industry. For developing countries, tourism offers the hope of economic stability and a better future for their citizens.

Compared with other industries, tourism is thought of as a “smokeless industry”. Its positive impacts are self-evident. To begin with, the economic effects of tourism can be categorized into four groups: the effects on income, on employment, on investment, and on development. The evidence can be summarized in this way: if tourism to an area increases, rapid success and expansion may lead to yet more investment in both tourism and other industries in that area.

Apart from its economic effects, tourism is also valuable in personal and social aspects because it satisfies the objectives of direct contact between people. Last but not least, the greatest social value of tourism lies in cross-cultural exchange.

Questions 32 to 35 are based on the passage you have just heard.

32. Where do tourists come from in the future?

33. What made a bright future for tourism industry?

34. Which of the following is not positive impact of tourism?

35. What does the greatest social value of tourism lie in?

Section C:  Spot Dictation
Directions: In this section, you will hear a passage three times, when the passage is read for the first time, you should listen carefully for its general idea. When the passage is read for the second time, you are required to fill in the blanks numbered from 36 to 43 with the exact words you have just heard. For blanks numbered from 44 to 46 you are required to fill in the missing information. For these blanks, you can either use the exact words you have just heard or write down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.

     Television works in much the same way as radio. In radio, sound is (36) changed into electromagnetic waves which are sent through the air. (37) Experiments leading to modern television took place more than a hundred years ago. By the 1920s inventors and (38) researchers had turned the early theories into working models. Yet it took another thirty years for TV to become industry. 

     The influence of TV on the life of the people is incalculable: it can influence their (39) thoughts and their way of life. It can also add to their store of knowledge. (40) Educational TV stations offer teaching in (41) various subjects. Some hospitals use TV for medical students to get close-up views of (42) operations. At first television programs were (43) broadcast in black-and-white. (44) With the development of science and technology, the problem of how to telecast them in full color was solved and by the middle 1960s the national networks were broadcasting most of their programs in color.

     (45) The programs that people watch are not only local and national ones. Since the launching of the first communications satellite, more and more programs are telecast “live” from all over the world. And live telecasts now come from outer space. In 1969, (46) the first astronauts to land on the moon televised their historic “moon walk” to viewers on the earth. Since then, astronauts have regularly sent telecast to the earth.


